Week 1, Term 4

P
L0001 Yl
o

t3A LY jaiad
e e

O AL Y R T )

iy d HA W)
T




Sunu M |eulnor i ysel

-21d3329 01 Ul 8o 40 Ateiq)|
awoy JnoA wouyyooq e peay
Suipeay :g jsel

uMo.Jd "33 'SjUBUOSUOD
Jojauopue(n‘o‘‘a’e)
S|J2MOA 10} 3UO -5IN0J0D

oMl 3yl yumspiom 3uljjads
noA1no alLpA SIN0jod
a14noAej omyinoA asooy)
-Aianoy a19)dwo) gz jysel
(323Y2 ‘@M “43A02 H00]) 1S||
Suijjads Apjaam JnoA sl
Suyjjads T ysel

ysiju3

MOY) uoiinjosal pue (¢3uoim
s9081eym) uoizedldwod
‘(a1aym ‘usym 1eym

‘oym) uoneiualio ayiinoge
21M 03 2|qel1 3yl 35 "Spiom
UMO JNOA Ul )l 31uMmBal pue
a|e1Alie) a1noAe) e 9s00YD
saje] Mied

painyesd - Sunlpn i€ ysel
J4OM JIBYINIBIA ‘SPIOM

2y puis 03 dnumous Jo
Suiqis eysy "spiom 3uljjads
JnoA jo (aiow 1o) ST 1o}
pJoMm -B-pul} UMO JNOA BN
-Auandy 933|dwo) (g ysel
(323Yo ‘@M 13402 00]) 15]|
Suijads Apjaam anoA a1
Suijjads :1 ysel

ys1j8u3

Sujpeay :p ysel

‘|suluo

auljAiols wouySuipeal

300q e yoiem 1o Aleiqi|
swoy noAwoua}xo0oq epeay
Suipeay :g ysel

7 01y "JapJo |eanzaqeyde

Ul SpJom 3sl| JNOA 3L
-AMianay 219|dwo) g ysel
(3232 ‘@34M 43A0D 00]) 18|
guijjads Apjaam JnoA 31U
Suyjjads i1 yselL

ysij8ug

ooqyIom Y3 ul
uoisuayaldwod ay3 918|dwo)
Suipeay :€ ysel

J0Y 3@&@
§J£uﬂoﬂ o)
i

vﬁuo..ww‘ 30%
ﬂcww\ ¢No.—&- a

UM 2|ggng uiIno 1si|
JnoA 31 -Sunlam 3|qqng
-Aiandy 23131dwo) 1z dseL

(3232 ‘@M ‘J3A0D §00) 35I|
Sunjjads Apjaam anoA a1
Suads T dyselL

ysijdu3

AVAI10H
olngand

‘Suiuapues awos yum djsH HjseL

"1sepealq
1934e saysip aua dn ysepn Hsel

Aepsiny]l

"1sepjealq 1oy 3|ge} aY113s sel

Aepsaupam

‘Buiysem
ay3 1no Suey djay HjseL

Aepsan}

(suiw 1) jAepAseng
iy1@914noA ysniq pue wool
InoA Ap1y ‘paq Jnoh axeN Hysel

1)99M — 7 WJd] ‘wesSoid dwoH e Sunjiop — Suluieal jo Ainunuo)

Ino4 Jea\

SAVMHIVd

$5320NS

ONINYVYIT

ONIHVYD

1234534

NOIWONA3
NVHOVTIVO

Cr

TOOHDS J1MdNd 3H4OAdNITSD

p2a3232ns up3 3uchiang 313y

=

Suluioiy




Suiuaisi pue Supjeads

*J|2s4noA awi| "pieAyoeq
inoA puno.e sde| a1ajdwo)
jEeaJg HNJ4 PUB JU3WINON

Y oogoMm 3] Ul
uoisuayaldwoo ayy a3a|dwo)
Suipeay :gjsel

‘Wwayy punole sjieym suiop
a4e A3yl 1eym ‘Uspeleyd
‘3dID3YIDINILNIS

..&:ﬁa 1dwoud

ay1 uo paseq Au03s LoYs
£J0 S9IUDIUIS SUIOS UM
019d2a4 9dualUuas Y1 asn

Sujuaysi] pue Supjeads
"}|3s4noA swi]

‘Way} punole und pue siaxJew
SE $31332NQ AWOS IN0 ind
}eaig 3ini4 pue JUSWIAON

Suipeay a19|dwo) :g yseL

joogsdom ayl ul
uoisuayaidwod ayl a13|dwo)
Suipeay

ysel (panjos wajqoid ayi s

Suiuaisn pue Supjeads

‘dooH ejnH e asn
jeaJg 1ni4d Pue JUIWANoN

Suiuaysi] pue Supjeads

1@2nboel
SIUU3) B UO |jeq sluual e azunog
}eaig Hni4 pue JUsWsAoN

s883

Suipeay 219|dwo) g ysel
")OOIOM

anoA ur Ajiaioe piom
punodwaod ay} a19|dwo)
‘Sulueaw mau Ajaannus

Ue YIM pJOM M3U B Wioj 01
3UIQUIOD SPIOM [|BLUS Z UBym
pawoy sipjom punodwo)
JeWIWEID G }Se]|

) 00gM40M 3yl Ul
uoisuayaidwod ayy a13|dwo)

s883

Suipeay 219|dwo) g ysel
‘24n1eay siyl

sey a|e1AJiej uasoyd e Moy
INOQE S11IM PUE 3JN}ea} auo
asooy) 'saje1 Aliej ul 2Je 18y}
$94N1EDJ LUOWLIOD 1B Y007
*3|e3 AJie} 31UN0AE) INOA
1Noge 3N “J0UIY) UBd NOA
se sajey Auley Auew se swen
soje] Aiieq

painpedd - SURA  )seL

2|PP!IN

21ed jo awen

}E31g UNJH PUB JUBLWSAOW yeaig

SAVMHIVd

$53020NS

ONINYYI]

ONIHYD

1034534

NOINVONAd3
NVHOVTIVO

&

TOOHDJS J17dNd 34OAdNITSD

paa23ns upd auohiang aiaym




awen Sujpunoy

193ys AlAI0e 00T
018uipunod ay1 a1sjdwo)
193ys

Ananpy 000 0T 03 8ulpunoy
OopIA 8uig

-umop punoy pue dnpunoy
T 000T pPue 00T 0T 3591€aN
aylo1siagwnp sulpunoy
"MO|aq yull 3Y3 BubpIP

Ag oapia ayi yoiem ‘ued noA |
JaquinN 2oy -z ysel

‘swajqo.d

Jagwnu JnoA uosiom ol
199ys Alaioe ayi 21a|dwo)
swia]qoid SUleAl — T Jsel
sanewayien

‘Ajlwey JnoA ur auoawos 0}
Swial smau ay3||=1ay "NL9
1o 2posida s jaam siyl Yolem

"MO|3q Yul| 3Y1 3D "dwes
Suipunoa ayy Aejd ‘ued noA §j
awepo Suipunoy

"199ys AlA110e Q00T

01 8uipunos ayy a1a|dwo)
199ys

An13dv 000 T 03 Sulpunoy
GERLY:[VE)

-UMOp punoy pue dn punoy
[ 000T pue "00T ‘0T 1s24e3N
9y103siagquinp suipunoy
"MO|3q ulj 9Y3 BuBPIP

Ag 0apIA 3y1Y21eM ‘Ued NOA §|
Jaquinpy 3|oyM -Z ysel

199ys

AlAanoe UOISIALP Byl 3139|dwo)
192ys AlIA1DY UoIsInIg
UOISIAIQ — T XseL
sanewsyie

SdiM
Z1NOS

dHL

"Ajiwey

JNOA Ul 2UO3WOS 01 SWall
SMau Y3 |13y 'sppjzinbs
Jo1seopod Ajlep ay1 01 uaisi

03pIA suIg

-uMmop punoy pue dn punoy

[ 000T pPue 00T DT 1S24B2N
3yl 03siagwnpsuipunoy
"MOJ3q Ul 3Y3 BuPpPIP

Ag oapIA 2yl yoiem ‘ued noAy|
Jaquinn 2oy M\ —Z ¥sel

199ys AlAioe
uonieoddynw ay3 s13|dwo)
122ys AnAnpy uonedldiiniy
0apIA
guig - js1oe4 uonedldinia
Inoj uleaq ol Aepp ung
v -dnyse uoneddiyniA
“Mojaq yul| Y3 Buppip Ag
03PIA 3Y1 Yo1eM ‘UBI NOA J|
uonedldi3niAl - T YseL
sonewayieN

“Ajlwie} JnoA
Ul 2UOBWOS 01 WY SMAU

ay3||21ay "2unmeN AgAsion jo
1seapod Apj2am ay1 03 ua3si]

[ 000T pue 00T ‘0T 3s=4e3N
ay3 031 SJaqunn suipunoy
"MO|3q 3jul] 3Y3 SuppIP

AQ 03PIA Y1 ydlem ‘Ued NoA |
JaquinN oYM —Z MseL

"199ys AlAIDE

uoleligns ay3 21s|dwo)
193ys Anipy uoipeligns
OopIA Bulg
-"guidnoJidaiyumsisqunu
18ip-f wodjsiaqunu 1sIp-f
1DEIIQNS 01 Uiea]:uoi1oenqgns
"MO|3q Ul ay3 Suppi

Ag 03pIA ay1yaiem ‘ued noA §
uolpenqgns - T JseL
sonewaylenl

SMINSAIN
oo

iy

“Ajjwie) anoA

Ul SUOBWOS 01 W)l SMauU
31|91y *(pul4 03 UMOp
Jlo4os) oipne 3yl 01 uaisi|
10 3PIHE 3Y) peay 2usgam
SIY} WoJd) apive ue asooyd

AVAINOH
nand

SAVMHIVd

$5320Ns

DNINYVYI]

ONI¥YD

1034534

NOLWONAd3
NVHOVTIVO

e

TOOHDS J1I1dNd 340OAdN3I15

p2322ns upa auoAiang aiaym




1e 08 e aAeH "sulaned
wy3Ayd ayy o1 Suoje dep
ued NoA Jl 985 puela|yooq
InoA uisjoquwAs a1snuwl aWwos
INOQE UOIBLLIOJUl Y3 peay
SN - VdVD

*0LL siiaquinus, Aepoy
siayelssyleiN

- Aegauyijolaqunp

ooq

e ul Joaded uo Alinnoe Aeg
ay1jolaquwnp ayi 219|dwo)
JeuondQ ¥ ysel

-Aepo1 10} SBINAIIE
S2119|Y1BA JnOA @13|dWwo)
€)sel

wod’|eloiny
-3uluien}-aal}) spijJojsawen
Slaquinn sulpunoy auljuQ
"MOJ3q qul| 3Y1 1) “dwesd
Suipunou ayy Aejd ‘uea noA |

‘086 SlJaquinus Aepoy
BENEGIEGE]

- AegayirjoiaquinN

00q

e ul JoJaded uo Auaide Aeg
ay3 jotaqunp ayl 313|dwo)
[euondQ - ysel

‘Aepo1 10) saniaioe
s21339|y3e N JnoA 213jdwo)
€sel

wod'[elony

-Buiuienn-a91y) Spy 10jSaWwen
Slaqunp Sulpunoy auljuQ

*‘00ST sl4aquinus,Aepol
SISUBISSYIEN

- Aeg ayljotaquinn

»jooq

e ul JoJaded uo Aunioe Aeg
ay3 jotaqunp ayla1s|dwo)
|euondQ -t ysel

‘Aep0o1 40} SallAI0e
s2133|y3e|\ JnoA a1ajdwo)
€ YselL

-193ys Auaoe 001
018ulpunod ay3 219|dwo)
199ys

Ayiandy 00T 03 Bulpunoy

sdoje8 apis x 0T

:dn wuepp

02ESMIAVA8Y/2]
“minoA//isdny

[I3is uiddoy ayy asnoead
0103pIA SIY1Yd1eM ‘Ued NoA ||
guiddoH -3d

'6Z9 siiaqunu s Aepo|
SISHeISSUIEN

- Aegoyrjoiaqunpn

ooq

e ul Jotaded uo Auainoe Aeq
ay1jolaqunp aylaiejdwo)
|euondo -t ysel

‘Aepo1 Joj sainioe
sa1391Y3e A JnoA 319 dwio)
€)sel

193ys Alaioe

0T 018uipunos ay1 a1a|dwo)
199ys

Ajianoy ot 03 Sulpunoy
OopIA BUIg

-uMop punoy pue dnpunoy

SAVMHIVC

$5320Ns

ONINYYIT

ONIHYD

1034534

NOUvONAd3
NVHOVTIVO

&

p2322ns up2 auohiany aiaym

TOOHDS J11dNd F34OAdN3I15D




'8°L'9'S ¥ '€ T'T 53un0
g J01eaq B SMOJ||0) Suidueg T AMAnoy saiuadold uo
a2Jueq -31d $231] Q€ - SHY |ensip Aajesia1e M -yljeaH/ad | 419yl pues[eLIslelp :30uads ouwlayy

*SpNoj2 2y} 1e dn yo0| ‘lem e "adou e Suisn *33unog yoea 1oy s, Ag 1unod ‘pieiyoeq

pue Jle YysaJj ayl Ul apisino jej 1suieSe |jeqpuey jo awes e Aejd diys 1o auljodweuy e uo dwnyg ‘[lem B 3suiede [jeq 122208 e} ay1 ul 3|88n[ 01 j|as4noA yoea]
youni yauni youni yaum yauni jeaug
'$90}
1noA yonoy 03 A3 pue punou3
ay1uo s noA sjiym noA
J01u0.) Ul s33] InoA Y01a.11§
*100|4 38Y1 10} Yoeal pue
umop wayy Suuq ‘pJemio}
yoeal pue umop wayl suuq
‘y8iy dn swe unoA ya1aa1s
Iumop 00D
‘aun
1599 IN0A pJ0d3y "ued noA se
jsey se wayy Suiddoy asiioe.d
pue sulaned Suiddoy
JUBI3IP 7 dn axew IxaN
m "Y1y 31y ‘Yroq

NUIvP8sdze=1siiAe|dgT=5ulpu
eiqisepowrgT=doojgg=Adjod
peo| ArgT=Aejdoinei mny|y
Pg818z6/paquia/wiod a1 00d0u
-agninoAmmm//isdiy
juoissnasad Apoq Suisn yum
Suoje mojjo) pue Buijaa4 siyl
do3s1,un) 3Uos ay3 03 US|
joo1suia1ied uoissnalad

‘W41 W3y WSy ‘W1 ‘Y
-123}4noA yum ulayjed
suiddoy siya mojjo} pue Aij
"9zew e xew

03 punoJs sy} uo siaylew
105123[qo swos Ie|d
Aunnoy

sdwn(ieis x 0T
sdwn/[|eaiuan X 0T

Apoq ay18unasjdwod sienbs x OT
SAVMHIvd $5370NS ONINYYI1 ONINYD 1034534
ZOF{ODOM 2222NS up2 m:oembm mkmh\\s
NVHOVTIVD P

ﬁ\ TOOHDS D119 Nd IHOANIIO



"143| JN0OA 01 sd31S OM} e '€
*201M1S3auy JnoApuag
“Y3u

JnoA o1sdalsoml el T
apis 01 8pls

"1e3q auoJojasned

uay3 yoeq sdajsinojuayly
piemioysdals 934yl A0 T
"1eaq auoJoj asned

uay} yoeqsdals omiuayl
plemio}dals suo anON ‘T
)oBq pue piemiod

13511} 9duep siy} asideld

*1541) 21snw JNoA Jnoge Ja4ed
J0juaJed e 03yeads noA
1BY1 34NnS BIA 2SN INOA
950042 01 paau noAIxaN
‘doy diy pue zze[ ‘wooljeq
‘de1‘usapow 13||eq ‘a|A1s
2ouep josadAliusiayip jo
s10| @Je 213y "2ouep Jo 3|A1s
JnoA uo apap sl op 01 Uyl
1511} 3 "90UEBP UMO INOA

dn ayew 01 3u103 3l NOA

suoAesn
Josjpuad painojod ‘seixal-

Jaded uleld jo 2231d -
Ipasu |IM NoA

s|eualeN

'93J13yl dn apew

1ey3 sued syl uo saAInd pue
‘Buimelp sy jo punoJisdyoeq
ay1uo 1ySiesns ag pjnoys
1BY3 Saul| Jo Juawdo|anap
a3 uo 8uisnooy ‘@uanbas
Ul SIN0J02 & YUM Saul|
|9|je4ed medp ‘puad ul 2341
adwis e Buimelp Jaily ‘saul|
Buisnisn[‘udisap|euoisuswip
-924U1 B 3yew ued app

m—e——

$4oeaq ayl 1e aie noAuaym
wims noA pjnoys alaymy
iyoeagaylol

08 noA uaym sudis ayl 1e 300|
01 paaunoA op Aym gé yoeaq
p2jjoJ1ed e je Wims

031 3uepodwi 3t stAYM "2
il1o1eMm

10 Apoq Aue punoJe aie noA
uaymsajni A}ajes ay1 moj|o}
01juenodw] ¥ stAUM'T
yoogyiom

anoA uiAyajes yoeaq

inoge suonsanb ayiamsuy
T Aandy

03pIA
guig - ospipn Alajes Yyoeag
‘Ayajes yoeaq uo mojaq
03pIA 3y Yd1em ‘ued noA |

*$199YSyIom

ayy21e|dwod aseald
‘saladoid

JIay] pue sjealew passadold
pue |ednjeulnoge SulUJed)|
2q ||IM NoA U0SS3| SIY3 U]
Aio1oey

e ullo ‘|eldalew [ednieu
eduisnuayila ‘suewny

Ag paanpoud usaq aney Aayl
"2JNJBU Ul punojlou aJe 1eyl
S3UO 3Je S|BlI91BW Passad0.4d
"S9ABI| pUE 3UO1S 3|
‘JURWUOJIAUD 31 Ul punoyj
2q ued sjelJalew jednieN
"passa0.d Jo |einjeu 3q

ued Ayl ‘yue3 uo sjeliajew
1UDJ34IP JO S10| @ik BIBYL

AVAITOH
nand

SAVMH IV

$5300Ns

ONINYVYI1

ONIHVD

103453y

NOUONA3
NVHOVTIVO

&

TOOHDS OIMdNd 34OAdNI 1S

pa3aaans upa auohAiang aidaym




‘|ood pue
paxe|aJ 8ulj@a) aie noA jlaun
siy3 Suiop doa) "100]} 3yl 10}

yoeaJ pue umop wayl sulq
‘pleAuo)yoeal pue umop
wayy ulig ‘ysy dn swue
JnoAya1a4is '015ayaails

op 01 8uos Mo|s e 3sooy)d
umop |00)

‘sdajs ayrlojiaaysyiom

3Y3 MOJ|O} OS[E UBD NOA
‘sawiy

Jnojs|aay JnoA uo axunog ‘g
“Inoj Aq spiemioy Supey

2Je noA ains a)ew Inoyj
]01UN0D 9y} 03 punOoJe uiny
pueyajinoA oydaise el T
Suiwing

"'92IM1533Uy JnoApuag v

‘plom
e pulj yoeaq ayj 239|dwo)
€ Anndy

*AlIN0E S0UBIBIP
ay11ods yoeaq ayi 219|dwo)
Z Aoy

é¢ydeaq aylie
Sulwwims uaym a|gnoay olul
198 noA Jiop noAop 18y 'S

SAVMH 1V

$5300NSs ONINYVI ONIHYD 1034534

NOUVONAd3
NVHOVTIVO

&

paaszans upa auoAiang aiaym

TOOHDS JI1dNd 340OAdN319




R — Om ImH

‘uIpbp 40 XI0q 3uigexoed uIn}aJ
supbaw ,ai, xifaid ayy :3|ny buijjads Ayljigeins asn}ol
Sodnles) Quljal
S|elualew A11al
010D saliadoud Ajdau
J01S gl
310} 9|np=aydsal 9|qnoJ}
s|qno.a} 1I0US 1sn(peau ysnoaya
ysnoayy i 9]2A%3l 1noA
inoA 110Ys Y EIIEY B
Puall o apusia. s20p
S90p ol : , cc mmmmm () pr—
Sujulow WIO1S snoldidsns Jusplooe Jreda.
3sJ0y wJoy 9|ql1daosns uJa2uo0d 1ioduie
J2UJ0) uJow A1apgns anoidwil Jleyd
yyou uJod OA3IS wieaJds l1els
pJo uJoq LB[aE > pideJ Jley
S g ———
G | v wJaL T 323 3817 8uyjj2ds

e



Morr ol Y

‘Bartlett and the
lee Vquge’

COMPREHENSION

Do you remember the book review in Unit 21?7 Read it again to
refresh your memory as to what this story is about.

In this part of the book, Bartlett and Jacques are on a voyage
to find a way of bringing back a fresh melidrop for the Queen.
Bartlett decides the only way is to freeze it in an iceberg and
then tow it home behind their ship.

The icebergs were gigantic. They rose out of the sea like white cliffs.
Captain Wrick sailed carefully amongst them, keeping as much distance
as he could. Finally he made for an immense mountain of ice that
stood twice as high as the ship’s main mast. He ordered the sails to be
furled. A cold sun was shining and the sea was as blue and as still as
freezing metal. The Fortune Bey stood motionless on the water. Captain
Wrick went below with Bartlett, Jacques and Michael. Outside the cabin
window, the iceberg loomed silently, reaching into the sky with its
whiteness, dwarfing everything.

‘Tt'll be easier to tow than it looks, said Captain Wrick. Bartlett
glanced at the iceberg. It couldn't be harder to tow than it looked —
it looked impossible.

T'm certain, said Captain Wrick, ‘T've done all the calculations. The
calculations were on the desk — pages and pages. But no-one
examined them. There was still the other problem they hadn't solved:
how would they tow it?

‘Shall we try the rope?’ said Michael. They all gazed at the huge bulk
of the iceberg. No-one could imagine getting enough rope around that
monster to be able to tow it.

‘The chain?’ There was the same problem with the chain.

‘You know we used to tow whales with chains, said Michael. ‘When I
worked on a whaling ship, we used to put the chains around their tails
and ...’



‘Whales? said Bartlett suddenly.

‘Yes. We used to put our chains ...’

‘What about harpoons?

‘No, Bartlett’, said Michael, glancing at Captain Wrick, with a grin,
as if to say how little explorers knew about the sea. "You kill the
whales with the harpoons, then you drag them with chains! But
Bartlett wasn’t listening. ‘Captain Wrick, he cried, ‘have we got
harpoons?’

‘Bartlett, the iceberg isn’t alive. We don’t have to kill it.

‘T don’t want to kill it. But I do want harpoons. Do we have any?

Yes, but ...

‘Good. Let’s have them. Three, And three long chains. And we'll need
a_hammer, from the carpenter — the biggest he has!” Bartlett grinned.
Captain Wrick and Michael were staring at him in confusion. ‘Don’t
worry, you'll understand soon enough, he said, and he turned to
Jacques. ‘Come on, Jacques, that iceberg won't wait forever!

by Odo Hirsch

1 What is the name of the ship that Bartlett and Jacques are on?

2 Who is the captain of this ship?

3 What does it mean to ‘furl’ the sails of a ship?

4 Where in the world do you think the ship was anchored?

5 How high was the iceberg that the captain anchored near?

6 a Who thought, at first, it would be easier to tow than it looks?

b Who thought at first it would be impossible?




7 Which two ways were suggested to tow the iceberg?

8 What was the difficulty with these two ideas?

9 Without explaining his plan, Bartlett asked the captain for three
- different things. What were they?

10 Look at the three things Bartlett has asked for and then explain
in detail how you think Bartlett intends to tow that iceberg.

Illustrate your answer in the same detail
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‘Bartlett and the
lce Voydge’ N

This story continues from Unit 29. Read it through first and then use
the words below to complete the story.

A boat was lowered. Bartlett and Jacques jumped in and rowed to the iceberg.

The whole crew was on to see what they would do. And it was

very simple: Jacques raised the and, using his enormous

, drove the harpoons into the side of the iceberg. The ice

splintered and flew as the went in. Then Bartlett attached a

to each one. Then they back, bringing the other
of the chains with them to fasten to the of the
Fortune Bey. And now the iceberg was securely attached. The Bey was ready to
it
But it didn't. For a day and a half the ship sat absolutely in

the water. Even when the breeze picked up and the sails and

filled with air, the Bey didn't move an inch. It was simply unable to shift the
monstrous iceberg. And so everyone began to wonder — if the ship couldn't

move the iceberg, did that mean that the iceberg could move the

? The answer came on the second day. The wind changed

. The iceberg began to drift. But it wasn't the

Bey: the iceberg was moving , and the Bey was following it!

by Odo Hirsch

stern A
still

rowed -}

deck "

. following
direction "\ billowed chain -\
,-\strength "--\.leedgehammer ~/ backwards

When you have finished, read the passage through again to make
sure it all makes sense. @




Wed rnesdal

ﬁ:* Flagh and crash

You might be surprised to know that, nine times out of ten, lightning
happens inside clouds or between clouds. Only about one lightning
flash in ten leaps from a cloud to the ground. Lightning zips through
the air at over 100 000 kilometres per second. Lightning always takes
the easiest path it can find. It is easier for lightning to travel through
air that has lots of water in it. Lightning makes zigzags because it is
seeking out the wetter parts of the air. If something tall and pointy is
handy — a skyscraper, a flagpole, a tall tree — the lightning will go
though that instead of the air.

Because lightning is more likely to strike tall things, you should
never take shelter under a tree during a storm. If you are out on a
baseball field or another flat, open space, you may be the tallest thing
around. That's why you should go inside when you see a storm coming.
As the lightning streaks to Earth, its path through the air can heat up
to 30000 degrees Celsius. That's almost six times as hot as the surface
of the Sun. Do you remember what happens to air when it's heated?
Right, it expands (spreads out). The air in the lightning path spreads
out so quickly that it sends a huge shock wave through the air around
it. This reaches our ears as the crash and rumble of thunder.

Even though thunder and lightning happen at the same time, we see
the flash of light first. This is because light reaches our eyes much
faster than sound reaches our ears. Light travels at 300000 kilometres
per second. Sound travels much more slowly — 330 metres per second.
Suppose lightning strikes 2 kilometres away from you. You'll see the
lightning flash a split second later. You won't hear the thunder for
about six seconds —that’s time for you to count slowly to six.
Although a sudden thunderclap may make you jump, it cant hurt you.
In fact, it’s telling you about something that’s already over!

by David Suzuki

You've just read a scientific explanation about lightning and
thunder by the world famous scientist, Dr David Suzuki. Make sure
your answers to the following are just as scientific by stating all the
facts correctly.
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Where does most lightning happen?

How fast does lightning zip through the air?

Why does some lightning make zigzag paths through the air?

Draw and name three tall things that lightning will go through
instead of air.

Why wouldn't it be a good idea for you to keep playing cricket

on an oval during an electrical storm?

About how hot is the air around the lightning as it streaks to

Earth?

What happens to air when it’s heated?

Explain how the crash and rumble of thunder is made.

Dr Suzuki tells us lightning and thunder happen at the same time.
So why do we see the lightning first and hear the thunder later?

If you heard a clap of thunder three seconds after seeing the
lightning flash, about how far away did the lightning strike?
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The red-back spider is
small, normally black with
a red stripe on its back.

It is found

¢ throughout most parts of
Australia

e in dark unused spots, eg
under eaves, in old tyres, in garden sheds, under rocks.

It is not an aggressive spider, but if it feels threatened in its

environment, it will bite and make you very sick.

Prevention

e Clean out its habitat.
e Use gloves when handling old tyres, cleaning out sheds, or

carrying out other tasks likely to involve contact with the
red-back spider.

Signs and symptoms if someone is bitten

e a sharp sting may be felt

pain at the site of the bite, which then spreads
nausea

dizziness and sometimes faintness

muscle weakness or spasm

sweating, sometimes profuse

swelling and localised sweating around the bite
rapid pulse.

® ®© o o o o

The first aider should

remove the casualty from any further danger
speak calmly to the casualty
apply a cold pack or compress over the area

®
@
®
e seek medical aid.



Answer the questions below to see how well you've understood the
information on the previous page.

1 Name three places where red-back spiders would like to live. (Use
the places mentioned in the article or out of your own experience.)

2 The article tells us to ‘clean out their habitats’ to prevent red back
spiders making their homes in your garden. How would you do

that safely?

3

3 With the help of your dictionary, explain the meanings of these
terms. (If the term has two words in it, eg muscle spasm, look up
the meaning of the word you don’t understand, eg spasm, before
working out your answer.)

a4 nauseq

b muscle spasm

¢ rapid pulse

d profuse sweating

e a casualty

4 List three signs or symptoms a casualty might have if bitten by a

red-back spider?

5 If you were the first aider:

a what sorts of things would you say to keep the casualty calm?

b what treatment would you apply to the bite?

¢ how would you seek medical aid if the incident happened at

someone’s home?




Spelling — Thursday

Spelling

Choose 15 of your list words and write them below.

Now create your own find-a-word using these 15 words.

Ask a sibling or grown up to solve the Find-a-word and check their work!



FrelpAY

Name: \g,oe“u?) g Test Term 4, Week 1
1. 21.
2. 22,
3. 23.
4. 24.
B 25,
6. 26.
s 27.
8. 28.
9. 29.
10. 30.
11. 31.
12. 32.
13. 33.
14. 34.
15. 35.
16.

17.

= Score /
19.

20.
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Grammar — Compound Words

A Compound word is formed when 2 Small words combine to form a new word with an entirely new
meaning.

Compound words can be a combination of Noun + Noun or Adjective + Noun or even different
combinations of nouns with verbs, prepositions, and adverbs.

Example: Sun + Flower = Sunflower Rain + Bow = Rainbow
Cup + Cake = Cupcake Snow + Man = Snowman

Compound words are words made by joining two or more
words together.

1. Add a word from the box to complete each compound word in the sentence.

(' mother brush fish corn  quake  pan )

a. At the beach we saw a ielly

b. | cocked the eggs in the sauce

e. | like to eat pop for lunch.

d. My grand rides a motorbike.

e. | cleaned my teeth with o tocth

f. A terrible earth struck the city.

2. Jain the words in box A to the words in box B to make compound words.

A - B
foot straw note break | cup boat fast book
hand egg photo life | berry ball graph cuffs




WRITING TERM 4 WEEK 1

MONDAY - PUBLIC HOLIDAY

Eractured Batry Tales

TUESDAY

What is a fractured Fairy Tale? A fractured fairy tale takes a classic fairy tale or children’s story and adds a
twist, changes characters, or makes it more modern (Think: language and setting).

This term we will be focusing on fractured fairy tales and putting our own twist onto well know fairytales.

Task 1: Name as many fairy tales that you can think of:

Which is your favourite and why?




What makes a good Fairy Tale? Here are
some features of fairy tales:

« Fairy tales nearly always begin with the words Once upon a time Wh\gt do we
or Long, long ago. . Find in"a
+ They usually have a_good character and an evil character. e Fa m

« They might involve magic or enchantment.

« A woodland/forest or castle is usually mentioned.

« There is always a problem, that is eventually solved and the good talking animals
characters live happily ever after. Q_:sgs\g

things come in
3sor7s

Task 2: Choose one of these features and write about how this occurs in
a well-known fairy tale.

EXAMPLE:

Good characters and evil characters in Snow White and the Seven Dwarfs

Snow White and the Seven Dwarfs are all good characters because they are kind and caring. They help one
another and all get along. The Queen (or Wicked Witch, Snow White's step mother) is the evil character
in the fairy tale. She is jealous of Snow White and wants to steal her beauty. She shows her evilness by having
Snow White chased out of the palace and tries poison her with a poisonous apple.




THURSDAY

Today you are going to practise rewriting a well know fairy tale. There is a list of some well-known fairy tales.
You may wish to choose your own fairy tale that is not in the list. An example is below on how to rewrite the
story using the boxes below:

EXAMPLE:

Fairy Tale: GOLIDLOCK and THE THREE BEARS

Orientation: Who, What, When, Where

Once upon a time lived three bears. There was Daddy Bear, Mummy Bear and Baby Bear. They all lived
fogether in a house on the edge of the forest and they loved to eat porridge for breakfast every day.
Goldilocks is a young girl who lived near the forest but had never met the three bears.

Complication: What goes wrong?

One day, the bears were about to eaf their porridge for breakfast but it was too hot so they decided to go for
a walk in the forest. Just after they leff, Goldilocks was playing near the bear's house and she could smell
the delicious breakfast. She went straight into the house and tried all the bowls of porridge. Daddy Bear's
was too hot, Mummy Bear’s was too cold but Baby Bear’s was just right. She at it alf up!

Goldilocks was then tired and wanted fo have a nap. She went upstairs and found three beds. First she tried
Daddy Bear's but his bed was too hard. Goldilocks then tried Mummy Bear’s but her’s was too soff. Last she
tried Baby Bear’s and his bed was just right. She fell soundly asleep.

The bears all refurned home to see someone had been eating their porridge and poor Baby Bear had no
porridge left! They raced upstairs to see someone had been sleeping in their beds and someone was still in
Baby Bear'’s bed!

Resolution; How is the problem solved?

At that moment, Goldilocks woke up and saw the three bears looking down at her. She screamed and
jumped out the bed. Goldilocks ran as fast as could, down the stairs and out of the house, through the forest
all the way to home. She never went to the bear’s house again and lived happily ever after.

Choose from these fairy tales or choose your own. Retell the fairy tale it in your own words. You may not write
about everything that happens but the most important parts.

Snow Jackand | Hansel The The Three | Billy Goats Gruff | Little Red Riding
White the and Gretel | Gingerbread | Little Pigs Hood
Beanstalk Man
Fairy Tale:

Orientation: Who, What, When, Where




Complication: What goes wrong?

Resolution: How is the problem solved?




Draw some pictures of what happens in the fairy tale below:
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Term 4, Week 1- Tuesday
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Subtracting 4-digit numbers, with regrouping

Grade 4 Subtraction Worksheet

Find the difference.

1. 4,387
- 3,359

10. 8,073
- 7,000

Online reading & math for K-5

2 8,385
- 1,851

- 450

12 481
- 2,890

o mk_giaunmgm
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Round numbers 0-1,000 to the nearest 10

Grade 4 Rounding Worksheet
[ Example: 329 rounded to the nearest 10 is 330 ]
Round to the nearest ten.

1. 804 = 2. 643 = 3. 111 =

4. 700 = 5. 735 = 6. 181 =

7. 747 = 8. 245 = 9. 684 =

10. 415 = 11. 149 = 12. 481 =

13. 246 = 14, 298 = 15. 856 =

16. 497 = 17. 550 = 18. 893 =

19. 101 = 20. 109 = 21. 936 =

Online reading & math for K-5 @ www kSlearming.com



Term 4, Week 1- Wednesday
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Multiplication Tables - 2 to 12 practice

Grade 4 Multiplication Worksheet

Find the product.
1. 7x5=

4. 2x11 =

10.2:(9:

13.8x 0=

16. 12 x 11 =

19.5:(5:

2 10T =

25. 7 x 10 =

2 3xT=

Mgx10=

M B x 2=

23. 12 x 8 =

A 11 x9=

3.

6.

8.

12

15.

18.

21.

24.

27.

2x 10 =

5= 10 =

12%x5=

-12 % 3 =

4 x4=

4 2=

Online reading & math for K-5

@ wavw kKSlearning.com



Multiply in columns - 1 digit by 3 digit
Grade 4 Multiplication Worksheet

Find the product.
1. 822 2. 876 3. 899
x 9 x 7 *x B
4 343 5. 216 6§52
x 1 5 2 ® 3
7 227 & 264 g 7o
* 8 ® 3 ® H
10. g80 1. 637 2. 701
x 9 x B x §
13, 204 4. §29 15 313
x 1 *x B x 2

Online reading & math for K-5 [+ mkgleunhgm
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Round numbers 0-10,000 to the nearest 100
Grade 4 Rounding Worksheet

{ Example: 4,689 rounded to the nearest 100 is 4,700

Round to the nearest hundred.

1. 9820 = 2. 5470 = 3. 6233 =
4. 2930 = _ 5. 4881 = 6. 3027 =
7. 545 = 8. 4710 = 9. 2,889 =
10. 195 = 11. 5872 = 12. 1,749 =

13. 9,837 = 14. 7932 = 15. 6,125 =

16. 8,713 = 17. 8684 = 18. 8,097 =

19. 1,083 = 20. 8328 = 21. 1853 =

Online reading & math for K-5 © www_KSleaming.com



Term 4, Week 1- Thursday

Division Facts: Dividing by 1 - 12

Grade 4 Division Worksheet

Find the quotient.

L10+1= 2 2+ 11 =
4. 96 + 12 = 5. 48 + 12 =
T1MM0+11=__ &

10. 54 + § = 1136 + 6 =
13. 66 + 8 = 4. 30 = 10 =
16.70 + 7 = 17. 97 + 3 =
19. 108 +12=__ 2060 + 12 =
2.3+ 3= 2.5+ 5=

25.35+7+= 26. 10 = 10 =

3.

6.

3v+3=_______ ¢

12

15.

18

21.

24

27.

20 + 4 =

60 + 6 =

18+3=

- 50 + 10 =

2+ 2=

.80 + 10 =

28 + 4 =

- 28+ T =

20+ 2=

Online reading & math for K-5

i wmvTﬁlemmgmn



Divide whole tens or hundreds bg Fl 1-digit number

Grade 4 Division Worksheet
Find the missing quotient:

280 +4=__ 2600 +2=__
%2100 + 7 = 4 3000 +6 = ____
% 5600 + 7 = 5420 + 6 =

" 500 + 5 = 5 1200 + 4 =

w700 + 7 = w0 + T =

240 + 3 = w7200 + 8 =

w500 + 1 = 1420 + 6 =

W 41200 + 3 = W E00 + 3 =

Ondine reading & math for K-5 wavw. KSlearning.com
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Round numbers 0-10,000 to the nearest 1,000

Grade 4 Rounding Worksheet
[ Example: 4,689 rounded to the nearest 1,000 is 5,000 ]
Round to the nearest thousand.

1. 1,539 = 2. 8,764 = 3. 3695 =

4. 8220 = 5. 3599 = 6. 209 =

7. 3941 = 8. §912 = 9. 1908 =

10. 5,388 = 11. 160 = 12. 1,329 =

13. 8,273 = 14. 2,046 = 15. 4218 =

16. 9.186 = 17. 7,284 = 18. 1,658 =

19. 9,129 = 20. 4137 = 21. 6,086 =

Online reading & math for K-5 i@ www kSleaming.com



Term 4, Week 1- Friday
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Addition and subtraction word problems

Grade 4 Word Problems Waorksheet

The table shows the number of people visiting an art museum over 3

months.
Januvary | February | March
Child 28 34 564
Adult o G 35
Senior 15 22 [
Tatal G 139 G

1. what is the total number of people that visited the art museurn
in January?@

2.  Compared to January, how many more children go fo the
museum in February?

3. How many adults visited the museum in February@

Reading and Math for K-5 & www.kSlearmning.com




4. 14 more seniors visited in March than the number that visited in
January and February combined. How many seniors visited the
museum in March?

5. Which month had the highest number of visitors?

4. Wiite an equation using “x" and then solve the equation.
“In February, there were x museum pass holders admitted fo
the museum. 48 of the visitors did not have a museum pass.”

Roading @wd Math fur K-8 & e BSlearning



Round numbers under 1 million to the nearest
10,000

Grade 4 Rounding Worksheet
{ Example: 4,689 rounded to the nearest 1,000 is 5,000 J
Round to the nearest ten thousand.

1. §7.211 = 2. 710,565 = 3. 580,169 =

4. 422798 = 5. 288,335 = 6. 908,579 =

7. 931,268 = 8. 492621 = 9. 627,154 =

10. 274,768 = 11. 229,295 = 12. 768,194 =

13. 605176 = = 14. 541473 = = 15. 431586 =

16. 285,896 = 17. 275,370 = 18. 582,072 =

19. 914,574 = 20. 820,384 = 21. 15,850 =

Online reading & math for K-5 & ww kSlearning.com



Number of the Day - Monday
The Number of the day is
In words
10 more
15 less

Subtract 25

Round to the nearest 100

Next even

Complete the pattern, add 5

List some factors

Divisible by 27

Double it.

Number of the Day - Tuesday

The Number of the day is

In words

10 more

15 less

Subtract 25

Round to the nearest 100

Next even

Complete the pattern, add 5

List some factors

Divisible by 27?

Double it.




Number of the Day - Wednesday
The Number of the day is
In words
10 more
15 less

Subtract 25

Round to the nearest 100

Next even

Complete the pattern, add 5

List some factors

Divisible by 27?

Double it.

Number of the Day ~ Thursday

The Number of the day is

In words

10 more

15 less

Subtract 25

Round to the nearest 100

Next even

Complete the pattern, add 5

List some factors

Divisible by 2?

Double it.




Number of the Day - Friday

The Number of the day is

In words

10 more

15 less

Subtract 25

Round to the nearest 100

Next even

Complete the pattern, add 5

List some factors

Divisible by 27?

Double it.
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Science Stage 2, 2021 Term 4, Week 1 Learning at Home

Do we really live in a material worild?

What are materials?

We experience the world around us using our five senses. These are touching, @
smelling, hearing, tasting, and seeing. These senses interact with the matter e ‘
that our world is made from. A material is the type of matter that an object is

made from. y ’
o

Natural and Processed Materials

There are lots of different materials on Earth. They can be natural or processed. Natural materials
can be found in the environment, like stone and leaves. Processed materials are ones that are not

found in nature. They have been produced by humans, either using a natural material, or in a
factory.

Vocabulary

wood plastic fabric metal paper glass cotton

clay stone rubber property

1. Look at the image of the tree house.
a) Circle which material you think the tree house is made from.
b) Would you like to live in it? Why or why not?




Science Stage 2, 2021 Term 4, Week 1 Learning at Home

2. Modern houses are made of and contain lots of different materials. Go around your house
and find an example of each material to complete the table.

s . T

3. The words below are all properties of materials. Remember that properties are words we use
to describe materials for example, that wood is very smooth.

| ][ light H absorbent ][ Hgid J[tranSparent” \,

I__l[:opaque ” strong ” weak J[ soft ]{ h,,,d_w[?

" eoon | oven | reswe | ey ||

1[ ’[ shiny H waterproof ][ dull ][ | |D

-

Choose one of the words from the word bank and find the_dictionary definition to help you
complete the activity below:

The word | chose:

What colour best represents Why symbol best What image best represents
your word? represents your word? your word?

Why did you choose this Why did you choose this What did you choose this
colour? symbol? image?




Science Stage 2, 2021 Term 4, Week 1 Learning at Home

OBJECT INVESTIGATION
When we are discussing materials, we are talking about the matter that one item is made from.
Many iters are made up of different objects or ‘components’, which may be made from different
matter. For example, a child’s toy might be made from a combination of wood, metal and plastic.

4. Using one of the objects you found in activity 2, investigate the object and its components by
completing the table. For example, a fridge might be made up of metal, plastic, and glass.
Metal might be used to keep it cool. Plastic might be used to make it lighter when you need
to move it and glass may be used for shelves to make it easier to clean.

Object name:

Sketch and label your object below. Material Source Why was this material used?
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There are 8 differences in the pictures below. Can you find them? Circle

them in red.
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beach flags
sun protect
sea water

safety hat

lifeguard skin
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skin

lifequard

swim

hat
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Read the information below about music notes and body

percussion below!

This is Crotchet

Crotchet

These Are the Quaver Twins

Quavers

but they are twice as fast because they need to fit
intfo the same one beat as a crotchet.

This is @ Cro’r;:he’r Rest (or one-
beat rest)

Rest

What is body percussion?

Did you know we can use our
body as an insfrumente We can
use different parts of our body to

make lots of different sounds!

Body Percussion

&"’%t:@

Stomp

Vs
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Choreograph a Dance

Choreography is making up and putting together steps for a dance. Use this activity sheet to
help you choreograph your own dance.

The first thing to do is decide on your style of dance. The type of steps you choose will depend
on this. There are lots of different types of dance style; ballet, modern, tap, ballroom, jazz and
hip hop are examples although there are many more.

Next you need to choose your music. Try to choose a piece that suits your style of dance.

You could use the Internet to find out dance steps that belong to your chosen style. However,
here are some simple steps that you could use. Do them in the style of your dance type and
make them match the music you have chosen.

Forward and back
1. Move one step forward then two steps back then pause for one beat.

2. Move three steps forward then four steps back then pause for one beat.

Side to side
1. Take two steps to your right.

2. Bend your knees twice.
3. Take two steps to your left.
4. Bend your knees twice.

Turning
1. Take a step to your left and turn around to the count of four, make sure you are facing
forwards by four.

2. Bounce on your heels four times.

w visit twinkl.com w




